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agmrraK l-4 Knaaa
Mac;io crrHBoqIIoe 15 99,0 0,1 10,9 0,2 0,02

Euroqrcrl AoMaurHne 90 198,0 13,8 1 1,3 10,1 0,8

lftope raproQe.ruuoe 150 108,0 3,1 5,2 12,l 1,C

Kanycra KBaIrreHatr c MacJroM pacr[TeJrbuBrM, caxapoM 65 63,0 1,0 J'J lr) 0,6
r{afi c caxapo*r, 200 41,0 0,2 0,1 10,1 0,8

Ane.nbcrrH ltur 76,0 1,8 0,4 16,2 1,4

Earos BrrraMrrHHbrfi c unrpouyrprreHTaMrr 32 89,6 2,6 0,6 18,2 1,5

Cmourwocmb pauuoHs 102,24 674,6 22.6 31,8 74,2 6,1

Oded 1-4 xnucc

Cyn naoro.urutfi c aepuuureJrbr) 2s0 153,0 5,8 4,8 21,6 1,8

@ule rypunoe rraHrrpoBaHHoe 100 296,0 24,0 16,7 L2,4 1,0

Puc oreapuofi i50 185,0 3,7 6,3 28,5 /r1

Kyrcypyra rcoHQepBnpoBaHHafl ( aon.rapuup) 30 98,0 3,1 1,5 18,0 1,5

Bar[.rrn 1/30 I na.{ 163,0 1,9 9;9 16,8 1,4

Hanuror ul o6,reunxu 200 60,0 0 0 15,0 1,2

X.ne6 uo.reruurfi c uuxpouyrpueHTaMu 25 53,0 1,8 0,3 10,8 0,9

EaroH BrrraMu HHbrfi c wurxpouyrprrenTaMrl 27 75,6 )') 0,5 15,4 7,3

Cmouuocmb pat(uoHa 102,24 1083,6 42,5 40,0 138,5 11,5

IIondruux
fiorypr {pyrronufi nnruenofi 202 75,8 3,0 2,8 9,6 0,8

Cao6a o6urruoeeuHag 60 191,0 4,9 3,0 35,9 3,0

Cmouuocmb DauuoHa 39,41 266,8 /ry EOJ'O IE E1J.J
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